



Activity Definition

- The goal of the activity definition process is to ensure that project team members have a complete understanding of all the work they must do as part of the project scope so that they can start scheduling the work.
- For example, how can you estimate how long it will take or what resources you need to prepare a report if you don't have more detailed information on the report?

Copyright 2005

Introduction to Project Management







Milestone Lis August 1, 200	
Project Name: Just-In-Time Training Project	
Milestone	Estimated Completion Date*
Draft survey completed	8/3/07
Survey comments submitted	8/8/07
Survey sent out by IT	8/10/07 8/17/07
Percentage of survey respondents reviewed Survey report completed	8/17/07 8/22/07
Survey results reported to steering committee	8/24/07
Note: Dates are in U.S. format. 8/3/07 means A	0.2.000











Steps for Creating an AOA Network Diagram

- 1. Find all of the activities that start at Node 1. Draw their finish nodes, and draw arrows between Node 1 and each of those finish nodes. Put the activity letter or name on the associated arrow. If you have a duration estimate, write that next to the activity letter or name.
- 2. Continue drawing the network diagram, working from left to right. Look for bursts and merges.
 - **Bursts** occur when two or more activities follow a single node.
 - A **merge** occurs when two or more nodes precede a single node.
- 3. Continue drawing the AOA network diagram until all activities with dependencies are included on the diagram.
- 4. As a rule of thumb, all arrowheads should face toward the right, and no arrows should cross on an AOA network diagram. You might need to redraw the diagram to make it look presentable.

Introduction to Project Management







Table 4-10. Sample Activity Resource Requirements Information

Activity Resource Requirements August 1, 2007

Project Name: Just-In-Time Training Project WBS Item Number: 3.1.1.1.2 WBS Item Name: Administer survey Description: Internal members of our IT department will perform this task. The individuals must be knowledgeable in using our online survey software so that they can enter the actual survey into this software. They must also know how to run a query to find the e-mail addresses of employees of grade level 52 or higher in the purchasing, accounting, engineering, IT, sales, marketing, manufacturing, and HR departments.

Introduction to Project Management





Program Evaluation and Review Technique (PERT)

- **Program Evaluation and Review Technique (PERT)** is a network analysis technique used to estimate project duration when there is a high degree of uncertainty about the individual activity duration estimates.
- **PERT weighted average** =

optimistic time+4×most likely time+ pessimistic time

6

- Example: PERT weighted average =
- $(1 \text{ workday}+4\times 2 \text{ workdays}+9 \text{ workdays})/6 = 3 \text{ workdays}$
- Instead of using the most likely time of two workdays for this task, you'd use three workdays with a PERT estimate.

Introduction to Project Management





Schedule Development

- Schedule development uses the results of all the preceding project time management processes to determine the start and end dates of project activities and of the entire project.
- The resulting project schedule is often shown on a **Gantt chart**, a standard format for displaying project schedule information by listing project activities and their corresponding start and finish dates in a calendar format.
- The ultimate goal of schedule development is to create a realistic project schedule that provides a basis for monitoring project progress for the time dimension of the project.

Introduction to Project Management















Using Critical Path Analysis to Make Schedule Trade-offs

- It is important to know what the critical path is throughout the life of a project so that the project manager can make trade-offs.
- If one of the tasks on the critical path is behind schedule, should the schedule be renegotiated with stakeholders, or should more resources be allocated to other items on the critical path to make up for that time?
- It is also common for project stakeholders to want to shorten project schedule estimates, so you need to know what tasks are on the critical path.

Copyright 2005

Introduction to Project Management











Cost Estimating

- Project teams normally prepare cost estimates at various stages of a project, and these estimates should be fine-tuned as time progresses.
- It is also important to provide supporting details for the estimates, including ground rules and assumptions.
- A large percentage of total project costs are often labor costs, so it is important to do a good job estimating labor hours and costs.

Copyright 2005

Introduction to Project Management





	Internal	\$/h		Internal	External	¢ (hereine	External	-	Total	Non-labor \$	Total Cost
WBS Categories	Labor	\$/11	our	\$ Total	Labor	\$/nour	\$ Total	⊢	Labor	Non-labor \$	Total Cost
1. Initiating	200	\$	65	\$ 13,000	Labor		\$ 10141	¢	13.000		\$ 13,000
2. Planning	600	-		\$ 36,000			\$ -		36,000		\$ 36,000
3. Executing	000	*		\$ 50,000			ş -	\$	-		\$ 50,000
3.1 Course design and development		-	_	ş -			\$ -	\$			s -
3.1.1 Supplier management training	600	\$	60	\$ 36,000	600	\$ 150	\$ 90,000	- ·	126.000	\$ 100.000	\$ 226,000
3.1.2 Negotiating skills training	300			\$ 16,500	300		\$ 45,000				\$ 111,500
3.1.3 Project management training	400	\$	60	\$ 24,000	400	\$ 150	\$ 60,000	5	84,000	\$ 50,000	\$ 134,000
3.1.4 Software applications training	400	\$	60	\$ 24,000	400	\$ 150	\$ 60,000	5	84,000		\$ 134,000
3.2 Course administration	400	\$	55	\$ 22,000	300	\$ 250	\$ 75,000) \$	97,000	\$ 80,000	\$ 177,000
3.3.Course evaluation	300	\$	55	\$ 16,500			\$ -	\$	16,500		\$ 16,500
3.4 Stakeholder communications	300	\$	55	\$ 16,500			ş -	\$	16,500		\$ 16,500
4. Monitoring and Controlling	500	\$	55	\$ 27,500			ş -	\$	27,500		\$ 27,500
5. Closing	200	\$	55	\$ 11,000			ş -	\$	11,000		\$ 11,000
Subtotal								\square			\$ 903,000
Reserves				ş -			ş -	\$			90,300.0
Total	4,200			243,000	2,000	850	330,000)	573,000	330,000	\$ 993,300
Assumptions Internal labor rates include benefits stakeholders. External labor rates are based on hi Non-labor costs include purchasing Non-labor costs may change as con	storical a licenses	aver for	age: usin	s; may cha g training	ange as	contract	ts are aw	arde	ed.		



		Month											
	1	2	3	4	5	6	7	8	9	10	11	12	Total
VBS Categories													Cost
. Initiating	13,000												\$ 13,000
. Planning	6,000	16,000	8,000	1,000	1,000	1,000	1,000	1,000	1,000				\$ 36,000
. Executing			-			-	-						\$ -
3.1 Course design and development			-										s -
3.1.1 Supplier management training	g		5,000	73,667	73,667	73,667							\$ 226,00
3.1.2 Negotiating skills training			5.000	35,500	35,500	35,500							\$ 111.50
3.1.3 Project management training	7		5.000		43,000								\$ 134,00
3.1.4 Software applications training			5.000										\$ 134.00
3.2 Course administration						17,000	53.333	53.333	53,333				\$ 177,00
3.3.Course evaluation							3,000	3.000	3.000	7,500			\$ 16,500
3.4 Stakeholder communications		1,500	1,500	1,500	1,500	1,500	1,500	1,500	1,500	1,500	1,500	1,500	\$ 16,500
. Monitoring and Controlling	1,000	2,000	2,000		3,000	3,500	3,000	3,000	2,000	3,000	2,000	1,000	\$ 27,500
. Closing									_,		8.000	3.000	\$ 11.000
ubtotal											0,000	51000	\$ 903.00
leserves*			-									90.300	\$ 90.30
otal	20,000	19 500	21 500	100 667	200 667	210 167	61 022	61 922	60 933	12,000			

